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BANK ONLINE LIVE CLASS i SSC ONLINE LIVE CLASS
(English & Odia) ; E (English & Odia)

BILINGUAL BILINGUAL

05:30 PM fo 06:30 PM 10:30 AM fo 11:30 AM
CCC ONLINE LIVE CLASS ENGLISH SPEAKING COURSE 2022

(NIELIT COMPUTER COURSE) (ENGLISH SPEAKING COURSE)

& www.mahendras.org ) 7052477777/7052577777

27 April 2022

BANK ONLINE LIVE CLASS

08:00 PM to 10:00 PM
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) % Mohit.. 1 day ago h d
/ WL_Q o2 w Thank-you madam for this Amazing class of today's. smanenaras.org & USE PROMO CODE : E14727 /

‘aa'w
And
My answer for today’'s homework is like- Bhavika Goyal 50 minutes ago
Optlon D None Homework question : (D) none
Read more
& GB REPLY 5 G  REPLY
w Rahul Bhakat 1 day ago Rim 1 day ago
Homework —> 9" HW answer -> JLRU (OPTION D NONE)
INVESTMENT ~~ JMUFRSLFMS ~~ JLRU
Ans—> None(Option D) b &P REPLY
Read more e Suman Paul 1 day ago
@5 GF  REPLY JLRU ('None )

Nadeem 1 day ago & REPLY
Q a Homework

@ Ans - Option D :- None

;@ Thank you Mam ‘22 a &/

a5 &P  REPLY

Nabanita De 1 day ago
H.W-option D(none).thank u ma'am.
b &P  REPLY
debasish chakraborty 1 day ago
Homework : None
Thank you mam.

b 9P REPLY

©
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In the word “INVESTMENT"” all the consonants are written as their preceding letter
and all the vowels are written as their following letter according to the English
alphabetical series. Now all the letters are arranged in alphabetical order from left
to right and all the repeated letters are eliminated. Then how many such pairs of
letters are there each of which have as many letters between them in the word
(both forward and backward) as they have in the English alphabetical series.

g "INVESTMENT " & Wt cUoiel 31 qdadl 37aR & 0 # @ v § 3k asft &=
3 UtATET AT & HAUR 3% AFATAfRT IeR & w7 & A o1v §1 39 wh s
F1 90 § 0 qUITeTHH #§ cqateuad frar o ¥ s weft Qe aw e @Y ger R
&1 A It & X Thaa Tow ¥, et @ 9@% F A aeg (3 3R G @) F sa &
R ¥ foraa fF sfdsh gotaTen s@er F §

(a)Two

(b)Three

(c)One

(d)None

(e)More than Three
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TS IfFa LTI A, B, C, D, P, Q, R 31T S &Y HATHATER
gfFaar & & § dAfher T A8 6 55T w7 # &l
us GfFd 7 S ATt FTAE gl afFa A 3
safFaal 1 3T gfFT 1 A IFaat T Ha@
SR A IR P AR aFT 2 AR ATt s aw
afayor Y 3T 1 3¢ T8I 7 3rerar-3re1er 37k e
g1 S 30 AP & S | gAY TUTA G ST AT P A
3R 3@ ¥ TeT 7 =g 3R Aftwan 3w
gTed el aTel SAfFd AfFdA SR WIS E1 QIR S F
Y & ST HTHAX 7 81 15 3 ITod FI arelT
SATF 40 3 GICd FA T ST & 9T/ gAY
TUTA 9T ST ¢ | 30 37 UTCd il ITT I Tad 63
31X 70 31k TS HIa dTol SATFdAT T Ahedq
g1 8. C, 55 37 UTCd e aTel AT Y 3T
3+HY g1 50 37 YTcd FIs aTdAT I TFd P & ik I
daT 81 C Y 25 3% wred g1 &1 B, D & a1 ¥ gy
TUTT W 33T &1 P T F@ 3o $T AR &1 D Y 55 3
el fAerd 8 | R Y C | garell 37 WTed gl &

Eight personsi.e. A, B,C, D, P, Q, Rand S are sitting in
two parallel rows but not necessarily in same order.
Persons sitting in one row are facing the persons
sitting in another row. Persons sitting in row 1 are
facing North and persons sitting in row 2 are facing
South. They get different marks in the exam.

S sits 2nd to the right of the person who faces P.
Persons who get minimum and maximum marks in
the exam are sitting at extreme ends. Difference
between the marks of Q and S is 7. Person who gets
15 marks sits 2nd to the left of the person who gets
40 marks. Person who gets 30 marks is an
immediate neighbor of the persons who get 63 and
70 marks. C faces the person who gets 55 marks.
Person who gets 50 marks sits immediate left of P. C
gets 25 marks. B sits 2nd to the left of D. P faces
North. D does not get 55 marks. R gets double marks
thanC
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Eight personsi.e. A, B,C, D, P, Q, Rand S are sitting in
two parallel rows but not necessarily in same order.
Persons sitting in one row are facing the persons
sitting in another row. Persons sitting in row 1 are
facing North and persons sitting in row 2 are facing
South. They get different marks in the exam.

S sits 2nd to the right of the person who faces P.
Persons who get minimum and maximum marks in
the exam are sitting at extreme ends. Difference
between the marks of Q and S is 7. Person who gets
15 marks sits 2nd to the left of the person who gets
40 marks. Person who gets 30 marks is an
immediate neighbor of the persons who get 63 and
70 marks. C faces the person who gets 55 marks.
Person who gets 50 marks sits immediate left of P. C
gets 25 marks. B sits 2nd to the left of D. P faces
North. D does not get 55 marks. R gets double marks
thanC
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How many marks D gets in the exam?

S D Q B (a) 15
(b) 25

—t—t—i (c) 30
70 30 63 55 (d) 40

(e) None of these

_',_i_'__i,_ Who among the following person gets
highest marks?
A R P C (a) A
(b) Q
(c)P
(d) s
(e) None of these

What is the position of A with respect to R?
(a) Immediate right

(b) Immediate left

(c) 2nd to the right

(d) 2nd to the left

(e) None of these
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Which of the following is not true regarding B?
S D Q B (a) B sits at extreme end

—'—'—'—J— (b) C faces B
70 30 63 55 (c) B gets 3rd highest marks

(d) IWO peI‘SOI \S dre S|“|I I” helWeen B Gnd S

A R P C

If P is related to 15, C is related to 50 then, in the
same order who is related to 55?

(a) s

(b) D

(c)Q

(d) R

(e) None of these
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Input: 2563 2156 8536 3245 2587 4521
Step I: 2356 1256 3568 2345 2578 1245
Step II: 3568 2578 2356 2345 1256 1245
Step IIl: 22 2216 1414 12

Step IV: 1111877 6

Input: 7584 2563 2754 8965 2145 6424
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What will come when 3rd number from left in step lis
lﬂDllt! 7584 2563 2754 8965 2145 6424 EI;\)li]c]Igd by 4th number from right in step IV?
Step I; 4578 2356 2457 5689 1245 2446 (b) 184
Step I1: 5689 4578 2457 2446 2356 1245 o) 278
Steplll: 2824181616 12 (e) None of these
Step V:14129880 What will come after adding the numbers which is

second, fourth and sixth from the left end in step IlI?
(a) 52

(b) 56

(c) 58

(d) 62

(e) None of these
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[nput: 7584 2563 2754 8965 2145 6424 Which of the following would be the difference of the

numbers which is 2nd from left end in step Il and 3rd

Step I: 4578 2356 2457 5689 1245 2446 T e
Step I1: 5689 4578 2457 2446 2356 1245 ()12

(b)16

Step 11:28.24 1816 16 12 ()18

I (d) 20
teplV: 14129886 (e) None of these

Which of the following element will be 2nd to the
right of 3rd from the left end in step II?

(a) 5689

(b) 4578

(c) 2457

(d) 2446

(e) None of these
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Analyzing resting state functional MRIs, the study, published recently in the online
journal Neuroimage Clinical, reveals that HIV-infected children have lower
neuropsychological test scores thus reflecting reduced memory span, attention
deficit and decreased visual-motor coordination among other conditions.

Which of the following can be inferred from the given statement?

(a) Those children who are not infected with HIV have sharper memory.

(b) Only MRI's can provide the exact picture or image of your inside body.

(c) These symptoms such as reduced memory span, attention deficit and decreased
visual-motor coordination can only be seen among children.

(d) HIV is a disease which only affects the brain in the human bodly.

(e) HIV infected Children who are neuropsychologically stronger are less venerable
towards disease such as reduced memory span, attention deficit etc.
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gTel 81 A HATAATS STed el wqASH ST [l forehel H YRIA LTI H IHH HIA dTel T
FTATCHS THTHTE T FALSTOT F3or A Uar Torar § f vasndd G scal &7
FIUATSHIATN S S TR EId &, 39 THR FA THIA 3, &1 g1 3R 37
R & T T T- e GH=aT & ! FY ST & BT 7T FUa7 ¥ AeAR@aT§ I
T 3TeTHT ST 51T Hehell 6?2

(T) & I=< ST T3S § Hh AT g1 § 3eTehl JTeerRd doT gidl g

() e THINMIIATS HTTSH IR & 3T Y Tl TR IT S A YSTH HT haT g

() A TaToT AR/ T T AT, AT Y FH AR TRI-AR AT H FA Fao goal
F & I HHdT B

(@) T3S v Y AT § S Fad AT iR A AfTasE ) yInfad Fa B

(§) T3NS HH AT T8 I SRR T d A 81d o, I AR & Ifer F
Wm%ﬁ#ﬁ;mﬁmﬁrmam €T Y FY 3R
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CIEGG] 3T Seven persons of different ages i.e.
25, 33, 4%“?9*5%?%?@%1%:6 11,16, 25, 33, 40, 49, 55 are sitting in a
qaﬁma?fmm%,\, Jalkks g Single row. All are facing North.
AaFa s ik saa e ifaa Two persons are sitting between J
BRI AT O, Ja;mngm and K and one of them are sitting at
o kS \—,nﬁ;mmgl oF extreme end. O sits 2nd to the left of
AFead TR Y g FT AT 74 ¥ J, who is youngest. Sum of the ages
LF T TR AT IS %hﬂﬁm . of the immediate neighbors of O is

3 s ¥ e e W) 35 afFaal 74. Four persons are sitting left of L

$Y MY qur AT §I N, M 3P F AT whose age is divisible by 5. Ages of
dorg, hqﬁ 3 11 ARSI I A the persons sitting at e)ftreme ends
LaRTdrp Ww—qﬁ?%l N & are perfect squares. N S:It.S !oetween
T 5 T AT B M and P whose age is divisible by 11.

Neither L nor P is oldest person.N's
age is divisible by 5.
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Seven persons of different ages i.e.
11,16, 25, 33, 40, 49, 55 are sitting in a
single row. All are facing North.
Two persons are sitting between J
and K and one of them are sitting at
extreme end. O sits 2nd to the left of
J, who is youngest. Sum of the ages
of the immediate neighbors of O is
74. Four persons are sitting left of L
whose age is divisible by 5. Ages of
the persons sitting at extreme ends
are perfect squares. N sits between
M and P whose age is divisible by 11.
Neither L nor P is oldest person.N's
age is divisible by 5.
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49 5§55 25 11 40 33 16 \(I::Ill)'ujamongthefollowmg is oldest person?
—— 1+ (0) K
M
M O N J L PK v
(e) None of these

How many persons are sitting between M and
o?

(a) None

(b) One

(c) Two

(d) Three

(e) More than three

What is the difference of the ages of P and N?

(a) 5

(b) 7

(c) 8
(d) 9
(e) None of these
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49 55 25 11 40 33 16 Which of the following is true?
| | | | | | I (a) L-25

(b) M-49
M O N ] L P K (c) N-33

(d) 0-40

(e) None is true

If J is related to 55, K is related to 40
then in the same mannerLis related
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316 IfFa WATT A, B, C, P, Q, R, S IR TaY
AAFTAR YA A ST IFR 858 fF A, PRI T
qﬁ?uﬁﬂ's%aﬁwraﬁafﬁwﬁma?rmm
g 3B, C, QaﬁTSQﬁ?rzﬁﬁﬁaaﬁtmw
mﬁerra?ram%*mﬁ?rﬁrﬁ%—qﬁ-?raﬂw
ufFa 2 & 35 ufFa Y 3T ¥ 3wl srerr-3rereT
ast 3 3ryTa 1982, 1985, 1987, 1989, 1991, 1993,
19953ﬁt1999ﬁm€rﬁf€r3ﬁtw€m€|ﬁﬁ
Y1 g & (3meny & A Sra §) 2019) | S AE
fF gt Sy s FHR F &Y s waFa F e
T FIA R ASTE A TR A aI3T I T T
a—n19933;a13€3n2mc1$rw q9Q 93
AT & a0 & G FAT W A AT
Qaﬁtkﬁma;aﬁﬂﬂmwﬁwm%
AfFasdaA eI RIRPF Ao RE agidard p
IHTAA SR WAL da1 81 Q FY 3T TH HHTT
TEAT | 98 cufFd st gad BeT § a8 39 ufFd
& 81 g 4 =ufFa &y 3N 37 & Foahr 3y
5 T (0T ¢ | B, C T THATH %lTasrmarQ
ﬁtsﬁmaﬁr%maﬁm#m»‘rmznﬂ%s
mmzoaﬁ%a?aﬁ?rwa?rmm%l

Eight personsi.e. A, B, C, P, Q, R, S and T are sitting in
two parallel rows such that A, P, Rand T are sitting in
row 1 and all are facing in south direction and B, C, Q
and S are sitting in the row 2 and they are faces in
north direction. Person sitting in the row 1 faces the
person sitting in row 2. They all are born in different
years i.e. 1982, 1985, 1987, 1989, 1991, 1993, 1995 and
1999 in same date and same month (the base year is
taken as 2019). All the information is not necessarily
in the same order.

S sits second to the right of the one who is two years
older than T. T was born after 1993. Q faces the one
who sits second to the left of the one who is second
oldest. The difference between the ages of Qand R is
an odd number but less than 5. No one sits between
R and P. P doesn't sits at the extreme end. The age of
Qis a prime number. The one who is youngest faces
the one who sits at the immediate right of the person
whose age is multiple of 5. B is the only neighbour of
C.Tdoesn’t face Q and S. Sum of the digits of the A’s
age is 5. The one who is 20 years old faces south.
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Eight personsi.e. A, B, C, P, Q, R, S and T are sitting in
two parallel rows such that A, P, Rand T are sitting in
row 1 and all are facing in south direction and B, C, Q
and S are sitting in the row 2 and they are faces in
north direction. Person sitting in the row 1 faces the
person sitting in row 2. They all are born in different
years i.e. 1982, 1985, 1987, 1989, 1991, 1993, 1995 and
1999 in same date and same month (the base year is
taken as 2019). All the information is not necessarily
in the same order.

S sits second to the right of the one who is two years
older than T. T was born after 1993. Q faces the one
who sits second to the left of the one who is second
oldest. The difference between the ages of Qand R is
an odd number but less than 5. No one sits between
R and P. P doesn't sits at the extreme end. The age of
Qis a prime number. The one who is youngest faces
the one who sits at the immediate right of the person
whose age is multiple of 5. B is the only neighbour of
C.Tdoesn’t face Q and S. Sum of the digits of the A’s
age is 5. The one who is 20 years old faces south.
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(1995) R P Who among the following sits second to the left of
T " (1985) (1999) A(1987) the one who was born in 1995?
ROW1 (a) Immediate neighbour of C
(b) A
(c) The one who was born in 1999
(d)s
ROW 2 ﬁF ? $ $ (e) None of these
(1993)(1989) S Q Which among the following statement is not true?
B (1991) (1982) (a) T faces north

(b) S and Q are immediate neighbors
(c) B was older than S

(d) Q sits at one of the extreme ends
(e) All are true

How many persons are younger than A?
(a) Three

(b) One

(c) Four

(d) Five

(e) None
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(1 99 )

R P
(1985) (1999) A(1987)

ROW1 —‘L

I3

Rowz—’r

+——4

(1993)(1989) S Q

B (1991) (1982)

Four of the following are alike in a certain way so
form a group, which of the following does not belong
to that group?

(a)B

(b)Q

(c)T

()R

(e)s

What is the sum of the ages of the persons who sit at
the extreme ends of the row 1?

(a)56

(b)55

(c)45

(d)51

(e)None of these
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Pollution control can no longer be viewed as a national problem to be addressed by individual
countries on the basis of national sovereignty. As the international effects of the Chernobyl nuclear
accident make clear, pollutants do not respect political boundaries; thus, every nation has a
legitimate stake in the environmental practices and policies of its neighbours

Which of the following would be the most logical continuation of the argument above?

(a)So, growth of the nuclear power industry should be halted until more rigorous safety procedures
have been developed.

(b)Hence, attempts made by one nation to impose its environmental policies on another should be
resisted-if necessary, by force.

(c)Consequently, issues of pollution should be handled by an international commission with the
authority to set policies for all nations.

(d)Thus, every nation should pledge itself to environmental policies that will minimize the danger to
its neighbours.

(e)As a result,only the ultimate emergence of a sovereign world government will resolve today’s
most pressing environmental dilemmas.
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YGWOT AT I I TSEIT AT AT & MU T 3el3T-37T9T ST SaRT HaIfeeT T ST arelt
TS HEAT & T A AQH SET ST HehelT &1 ST T Aol ITATT FereaT & HRTSET

TSI TUSE HI ¥, T UsTaiferss QAT T TFATA 781 Y &; $7 IR, Ied% T &
qTH 379+t gAY €Y ggtaxoiia gt sk e & e 3y R d

farafaf@a & @ &l a1 3RTa a& H @ aifds avawar e

(T) SHIAT, GTATYT Fo1T 36N & AT FI I« d N AT AT AT ST dF & 3rfa=w
FOR FI&T IfHaTe far il a7gt $r vt

(<fY) SHTAT, T TS GERT 39elT TATaRor AT Y gHY T A9 & J7raT 7 faer fmar
ST IR - Ffe 3T 81, At el gan|

(¥f) sTelierereT, yguoT & Fge! # w3t &ut & v AHfaw FuiRa F@ S aRFER FawTE
HATSERT AT ZarT vty R simer anfew)

(3) 3H IFR, Tcdh IS¢ HI GATA0T AfQ4T & Ifq Ta=TagH g1 I T Y 379 weifia &
foT @al # & FMm|

() IRUTTHATTEY, Fael Teh AW (AT WIHR F1 A 37T & 3T F oA A0 gara
aTell TATaR O A3 T FATUTA HI31T|
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Pollution control can no longer be viewed as a national problem to be addressed by individual
countries on the basis of national sovereignty. As the international effects of the Chernobyl nuclear
accident make clear, pollutants do not respect political boundaries; thus, every nation has a
legitimate stake in the environmental practices and policies of its neighbours

Which of the following, if true, most strongly supports the view expressed in the passage?
(a)Acid rain from factories in the mid-western United States pollutes lakes in Canada.

(b)Soviet leaders refused western reporters access to safety records after the Chernobyl accident.
(c)Neighboring states within the United States are often unable to agree on joint pollution control
efforts.

(d)Existing international bodies have no authority to impose pollution control regulations on
member-nations.

(e)Fishers form Japanese fleets have increasingly depleted fish supplies in United States’ territorial

waters.
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HEUOT fAI=T0T T 31 AT ATSCAT & ITUR T ITAT-3el3T ST SaRT eI hl ST aTel

~

TSET THEIT & T & g1 &@1 o1 Tehelt §1 ST b AT rer qaro] gefea & saisdy

THTT TISE FIS ¥, YEuH Totetfords WAT3HT T TFATT 7t 7 §; §F ThR, Teds T &
qTH 379+t gAY €Y ggtaxoiia gt sk e & e 3y R d

ﬁ#r?j@aﬁﬁaﬁam,uﬁw%,eﬁmﬁmmwmmmgﬁmwﬂw
Eﬁwm%%@mmm@ﬁwmmwmmﬁmm
?é)ﬁ@ﬁﬂﬂﬁﬂ%ﬂ@&ﬁwwmmwmmmmw
?él)amﬁﬂ?%ugmﬁ#ﬁgwma;mmﬁmﬁmﬁﬁasﬁ#wﬁm%l
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Statement: Despite strong opposition, the controversial Prohibition of
Forcible Conversion of Religion Bill was passed by the Tamil Nadu
Assembly with the AIDMK and the BJP outvoting the combined
opposition of the DMK, the Congress, the TMC and the Left parties. —A
news

Assumptions: |. Conversion creates resentment among several sections
and also inflames religious passions, leading to communal clashes.

Il. Conversions only lead to the isolation of the converted.

lll. Strong opposition has put hindrance before a bill in taking final shape.
(a) All L 11 &Il

(b) Only I &1

(c) only 1 &I

(d) Only Il &I

(e) None of these



http://www.mahendras.org/

/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

FYT: F3 AN & dras(g, dfAerers femeras garr Rarereds et aRads fade
99 FT AIDMK 311X BJP of DMK, F1a, TMC 3R 319 gl & Fgera iy
qoIsHhT YR 641 UT| -Tsh TARR

HolHTeT:

1.~ erafaRor &% qait & amnrer der Far § 3R arfie sraaat w1 s srsTaT
oo wveRe s1sd gt &

Il. TYTAROT hdel IRATd & TeINg T AT AT 2|

. e fardres &0 3ifas v &a F A Ruar A s s r g

Wk MIE: cdll

(&) Shaer 1 3T

(&) Faer1 3

() Faer 1 3R

(3) $TH @ FI T8l
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a means either hour hand or minute hand is at 7

co means either hour hand or minute hand is at 10

© means either hour hand or minute handis at 8

B means either hour hand or minute hand is at 12

® means either hour hand or minute hand is at 3

H means either hour hand or minute hand is at 5

Note: if two symbols are given then by default first symbol is consider as hour hand and
second symbol is consider as minute hand.

A person takes 130 minutes to reach office from his home and he started at a® but on the
way to his office he met his friend and reached office 35 minutes late. So, at what time he
reached office?
T SAfFd H A W @ FEATET Tgha A 130 BeAe 7o § 3R q§ o @ YE gIT AfFe 0
FRITT & T 95 AU A F Thenm 3R 35 fee &0 ¥ FRio ggan @), g B =
I qgan?

(a)uB

(b)ep

c)®©
(d)op

(e)None of these
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a means either hour hand or minute hand is at 7

co means either hour hand or minute hand is at 10

© means either hour hand or minute handis at 8

B means either hour hand or minute hand is at 12

® means either hour hand or minute hand is at 3

H means either hour hand or minute hand is at 5

Note: if two symbols are given then by default first symbol is consider as hour hand and
second symbol is consider as minute hand.

A train leaves from Pune station to Mumbai at ®®. Usually it takes pp hours to reach
Mumbai but it halts at some station for Thour 45 minutes. So, at what time it reaches to

MumbaPW@Qlﬂ'@'ﬂﬂ?ﬂ?mmWWﬁﬂmFﬁ%I mﬁrwmmﬁ:ﬁrus
68 wd § afFd ge e T W 1 6T 45 fBae & AT sHd ¥ Y, Tg HIE fraa
I ggud g7

(a) af’

(b)None of these

(c)e©

(d)ep

(e) =B
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a means either hour hand or minute hand is at 7

o means either hour hand or minute hand is at 10

© means either hour hand or minute handis at 8

B means either hour hand or minute hand is at 12

® means either hour hand or minute handis at 3

H means either hour hand or minute hand is at 5

Note: if two symbols are given then by default first symbol is consider as hour hand and
second symbol is consider as minute hand.

One day Abha and Sabha plans to go for shopping at ©® and returned at their home after
shopping at ©°. So, how much time they spend in shopping if they go for shopping in the
morning and returned at home in evening?

& oo 3T 3R g F 0° A @il FA A AT da€ 3R ©° W @A FIF HYa ©Y
dle 3m$1 o), Ife 9 gag @il & AT o § 3 a4 & Y dled § O 3 @l A
fraeT AT cTdid S 87

(a)pB

(b)op

(c)ep

(d) =B

(e) None of these
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A@B means Ais child of B

AS$ Bmeans Ais parent of B

A#B means Ais sibling of B

A % B means A is spouse of B

A&B means A is grandparent of B

+A[+B represents the male member of the family
-A/-B represents the female member of the family

If the statements “(+)P@S $Q@(-)T&(-)U; (-)v#U@(+)R%Q"
holds true, then how is S related to R?

(a) Father in law

(b) Mother in law

(c) Father

(d) Mother

(e) Sister
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A@B means Ais child of B

AS$ Bmeans Ais parent of B

A#B means Ais sibling of B

A % B means A is spouse of B

A&B means A is grandparent of B

+A[+B represents the male member of the family
-A/-B represents the female member of the family

If the statements “(+)P@S $Q@(-)T&(-)V; (-)V#U@(+)R%Q" holds true, and S's age is twice of
T's age , then how many members are younger than S?

(a) Three

(b) Five

(c) Six

(d) Four

(e) None of these
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A@B means Ais child of B

AS$ Bmeans Ais parent of B

A#B means Ais sibling of B

A % B means A is spouse of B

A&B means A is grandparent of B

+A[+B represents the male member of the family
-A/-B represents the female member of the family

Which of the following symbols should replace the sign ($) and
(#t) in the given expression in order to make the expressions B 2
G and F > K definitely true?

‘A>BSC2F=G>HH#O2K<E<R>T
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Directions (6-9):

Sol. Logic: In 5tep I, digits of each numbers are arranged in ascending order from left to right.
In Step I, Numbers are arranged in descending order from left to right.

In Step III, Total sum of numerical value of all digits in each number.

In Step IV, all numbers are divided by 2.

Input: 7584 2563 2754 8965 2145 6424
Step I: 4578 2356 2457 5689 1245 2446
Step II: 5689 4578 2457 2446 2356 1245
StepIlI: 28 2418 16 16 12

StepIV:14 129886

56. Ans. (c)
57. Ans. (a)
58. Ans. (b)
59. Ans. (e)

510. Ans. (e)
Sol. Only (e) can be inferred from the given statement as it is given that HIV-infected children have

lower neuropsychological test scores thus reflecting reduced memory span, attention deficit.


http://www.mahendras.org/

/ %hémahd ’é,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727 /

56. Ans.(c)
Sol. The argument is leading up to call for some sort of international agency to control pollution,
which, as the author claims, is an international problem. Thus (c) is the best response.

57. Ans.(a)

Sol. The author cite one example of international pollution, so another example would help
strengthen his claim. (a) provides such an example.

58. Ans.(c)

Sol. I1I is implicit. Note that the statement is a piece of news. What the journalist assumes about the
conversion and its impact can't be explicitly said. But the words “despite strong opposition” indicate
that the journalist must be assuming IIl. I also follows as it is given that despite strong opposition,

the controversial prohibition of forcible conversion of regional bill was passed by Tamil Nadu
assembly.

59. Ans.(b)

Sol. A person takes 130 minutes to reach office from his home which means takes 2hr10min and he
started at co® which means at 7:15. So, he reaches office at 9:25 but on the way to his office he met
his friend and reached office 35 minutes late so, he reaches office at 10:00 i.e. cof.
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$9. Ans.(b)

Sol. A person takes 130 minutes to reach office from his home which means takes Zhr10min and he
started at a® which means at 7:15. So, he reaches office at 9:25 but on the way to his office he met
his friend and reached office 35 minutes late so, he reaches office at 10:00 i.e. cof3.

510. Ans.(e)

Sol. A train leaves from Pune station to Mumbai at ®® which means at 3:15. Usually it takes uf to
reach Mumbai which means it takes 5 hours to reach Mumbai. So, the time it reaches to Mumbai is
8:15 i.e. but it halts at some station for 1hour 45 minutes. So, at 10:00 i.e. cof it reaches to Mumbai.

511. Ans.(a)

Sol. Abha and Sabha plans to go for shopping at ©® i.e. 8:15 and returned at their home after
shopping at ©® i.e. 8:15. So 12:00 hours they spend in shopping if they go for shopping in the
morning and returned at home in evening.

S12. Ans.(d)
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S13. Ans.(a)
Sol.
(+)S=—=T(-)
(+P) (-)Q=——=R(+)
(-)V—U(-)
S14. Ans.(c)
Sol.
2x (+)S_T(') E
(+P) (-)Q==R(+)

(IV—U(")
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